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Place value chart

0

0

0

0

0

0

0

0

1  0  0  0  0  0 1  0  0  0  0   1  0  0  0 1  0  0 1  0 1

2  0  0  0  0 2  0  0  0 2  0  0 2  0 2

3  0  0  0  0   3  0  0  0 3  0  0 3  0 3

4  0  0  0  0   4  0  0  0 4  0  0 4  0 4

5  0  0  0  0   5  0  0  0 5  0  0 5  0 5

6  0  0  0  0   6  0  0  0 6  0  0 6  0 6

7  0  0  0  0   7  0  0  0 7  0  0 7  0 7

8  0  0  0  0   8  0  0  0 8  0  0 8  0 8

9  0  0  0  0   9  0  0  0 9  0  0 9  0

2  0  0  0  0  0

3  0  0  0  0  0

4  0  0  0  0  0

5  0  0  0  0  0

6  0  0  0  0  0

7  0  0  0  0  0

8  0  0  0  0  0

9  0  0  0  0  0 9
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Place value additions and subtractions (6-digit numbers)

Complete these number sentences.

430,000 + 6378 =  805,370 + 20,007 =

234,000 + = 234,846  904,678 + = 924,678

770,777 + = 777,777  504,027 + = 534,627

734,523 - 523 = 827,410 - 27,000 = 

652,235 - 50,000 =  272,896 -        = 200,896

645,345 - = 5345 852,462 - = 802,060   
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0 to 1,000,000 landmarked line

1,000,0000      100,000      200,000      300,000       400,000      500,000       600,000       700,000      800,000       900,000
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5-digit addition practice

1. 45,248 + 32,517

2. 52,382 + 24,045

3. 63,521 + 23,934

4. 38,413 + 27,305

5. 73,278 + 20,001

6. 45,379 + 23,365

7. 39,241 + 26,382

8. 45,382 + 23,618

9. 35,684 + 37,947

10. 56,937 + 24,285
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Place value chart

9 00 00 9 000 9 00 9 0

1 00 00 1 000 1 00 1 0 1

3 00 00 3 000 3 00 3 0 3

4 00 00 4 000 4 00 4 0 4

5 00 00 5 000 5 00 5 0 5

6 00 00 6 000 6 00 6 0 6

7 00 00 7 000 7 00 7 0 7

8 00 00 8 000 8 00 8 0 8

2 00 00 2 000 2 00 2 0 2
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Maths Answers Autumn Year 6 

Week 1: 

Place value additions and subtractions (6-digit numbers) 

430,000 + 6378 = 436,378 805,370 + 20,007 = 825,377 

234,000 + 846 = 234,846  904,678 + 20,000 = 924,678 

770,777 + 7000 = 777,777  504,027 + 30,600 = 534,627 

734,523 - 523 = 734,000 827,410 - 27,000 = 800,410 

652,235 - 50,000 = 602,235 272,896 - 72,000 = 200,896 

645,345 - 640,000 = 5345  852,462 - 50,402 = 802,060 

5-digit addition practice 

1. 45,248 + 32,517 = 77,765

2. 52,382 + 24,045 = 76,427

3. 63,521 + 23,934 = 87,455

4. 38,413 + 27,305 = 65,718

5. 73,278 + 20,001 = 93,279

6. 45,379 + 23,365 = 68,744

7. 39,241 + 26,382 = 65,623

8. 45,382 + 23,618 = 69,000

9. 35,684 + 37,947 = 73,631

10. 56,937 + 24,285 = 81,222


